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University of Mumbai
Examination Summe r 2022

Tinre: 2hotu' 30 rninutes Max. Marks: 80

Choose the correct
compulsory and carry

option for foilowing
' equal marks

questions. All the Questions are

ollowurg ts true m
Mechanism to corry data
Mechanism to copv and rnana
Mechanism to store and manage data
Mechanism to paste data.

Do not haie sufficient attributes to form primary key
Opticn D:

Option D:

which of the fbllowing is correctsyntax to display all empkryc@
using SQL

t & ti'om employec

Select * from employeeOption B:

Select * from department
Se lect nothing

Group lryOption A:

having

Whichofthefollowingproridestheabilitytoqueryi;rformationtromffi
insert tuples into, delete tuples tom. and modify tuples in the database?

Option C:

I lre I'ro3ectlon operatron m relatnnal algebra is lr,ritte n as

Option A:

Option C:

l)clction ot' an student frcm table alio ic
til'clelcte is called

Otrtioir ,{: cascaclcd

Option

Option B: diamord
tnans

Weak Entity set
Do not harc sufficient attributes
Do rrot haw any rrelation.

Do not have attributes at all

In E-R notations relatkmship rePrrinl*O ot

Option

ptron

ntrty

llPage
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Q1.

Orrtion B:

Option C:

Option D:

2.

Optrcn A:
Option B:
Optron C:

a
-1.

Opiron A: ecll

L)ptton C:

cllc

4.

Uptror-l A:

Option C:
Optiorr D:

5.

Uptrcn B: 0rder by

Uptron D: ot

6.

Option A: DDL
0ptron ts:

DML
0ptron I):

7.

I.
Uptron iJ:

n

ti.



Option B: virtual
Option C: related
Option D: Simole

9. Which one of the follow
Option A: Atomicity

Option B: Consistency
Option C: Isolation
Option D: Deadlock

10. A Trarrsaction complete its execution b said to be
Option A: Sarzed

Option B: Loaded
Optron C: rolled
Option D: 

I committed

Sulve any TNo Questions out of Three tO marks eactr
Explain thc DDL r.nd DML with suitable Exampleq

C

Explain all E-R Notatiom with exampies.

Explain reiationai algebra operations in detailsl

Solve any Two Questions out of Tluee t0 marks each
raw E-R diaggarn for Hoip

2l['aii,j

respect to database Sansactionsl
dearilock handling.
Explain database architeitureii deta

Q4
A e any Iwo 5 marks eac
i ompare tradfrona system rv tabase rnanagement system.

ll. Explarn Log based recovery in transactbn rnan-agernent

tn

B Soll'e anyOne 10 mar*s each
i. Explain any five SQL aggregate functions with examffi
ll. Eiplaih ACID Properties in Details.
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